
Credit test structure  

Sentence transformation: 

Stronger fighters have better results – the stronger_______________ (the fighter), the better the 

results.  

I am sure the students are waiting in the gym – the students must be waiting in the gym. 

Word transformation:  

The result of the match was influenced by the (FAIL) of the best player – FAILURE 

Multiple choice:  

He stopped : a) smoking b) smoke c) to smoke  for ever.  

Reading: gap filling : choose the right word for each gap.  

 

 

 


